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1 Introduction
In this tdoc the BS RF feasibility of agreed combinations of the LTE-A deployment scenarios in [1] is analyzed from a basic IMD3 and 3rd order harmonics point of view.
   The analysis shows that the scenarios are well chosen from a basic BS RF point of view. 
2 Discussion
The deployment scenarios in the main section of [1] are found below. 
Intra-band Contiguous CA

· FDD: UL: 40 MHz, DL: 40 MHz in Band 3 (1800 MHz)

· TDD: UL/DL: 50 MHz in Band 40 (2300 MHz)

Inter-band Non-contiguous CA

Region 1

· 40 MHz UL/DL: 20 MHz CC (Band 7) + 20 MHz CC (Band 20)

· 40 MHz UL/DL: 20 MHz CC (Band 3) + 20 MHz CC (Band 20)

· 40 MHz UL/DL: 20 MHz (Band 7) + 20 MHz CC (Band 3)

Region 2

· 20MHz UL/DL: 10 MHz CC (Band 5) + 10 MHz CC (Band 12), FDD

· 10MHz UL/DL:5MHz CC (Band 17) + 5MHz CC (Band 4), FDD 

· TBD

Region 3

· 20 MHz UL/DL: 10 MHz CC (Band 1) + 10 MHz CC (Band 18/19)

· 40MHz UL/DL: 20 MHz CC (Band 38) + 20 MHz CC (Band 40)

Intra-band Non-contiguous CA

· FDD: None

· TDD: None
This document restricts the discussion to the Inter-band Non-contiguous CA cases.
2.1 Impact on BS requirements
There is no identified impact on existing BS receiver requirements for neither Region 1 nor Region 2 or 3 band combinations since they are all 20 MHz + 20 MHz and can be realized using two rel-8 carriers as, outlined in [2] and [3]. However this conclusion is pending the discussion of new carrier types and transmission bandwidths in release-10.
A BS will transmit carriers in 2 different bands simultaneously, but a way forward is to rely on the  current per-band RF requirements at test ports A / B as sufficient: from a RF perspective, a dual band BS is equivalent to dual-band co-siting of entirely separate systems.
2.2 Intermodulation and harmonics
The analysis is performed for BS TX IMD3 or 3rd order harmonics affecting BS RX. The analysis is conducted according to [3]. Figure two from [3] is reproduced here.
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Figure 1: The methods to calculate IMD3 in contiguous and non-contiguous CA from [3].
	Band1
	Band2
	BSTX IMD3 IN BSRX pass band
	BSTX 3rd order harmonics in BS RX pass band

	Region 1
	
	
	

	20
	7
	No
	> 38 MHz from band 7 BS RX edge => OK

	20
	3
	No
	No

	3
	7
	No
	No

	Region 2
	
	
	

	12
	5
	No
	No

	17
	4
	No
	No

	Region 3
	
	
	

	18/19
	1
	No
	No

	40
	38
	No
	No


Table 1:

The band combinations are well chosen insofar that no significant BSTX IMD3 in the BSRX pass band or BSTX 3rd order harmonics in BS RX pass band is found.
The band 20 + Band 7 combination has at least 38 MHz separation to the BS RX edge. This is sufficient for suppressing the harmonics in the BS.

More complex effects like UE TX component carriers forming IMD3 products with BS TX component carriers has not been considered in this analysis. 
3 Conclusion


There is no identified impact on existing BS receiver requirements for neither Region 1 nor Region 2 or 3 band combinations since they are all 20 MHz + 20 MHz and can be realized using two rel-8 carriers. 
The inter band LTE-A deployment scenarios are well chosen insofar that no BS TX to BS RX IMD3 or harmonics problems have been found. The 40 MHz UL/DL: 20 MHz CC (Band 7) + 20 MHz CC (Band 20) combination has a 3rd order BS TX harmonics component located more than 38 MHz from band 7 BS RX edge, but this is sufficient to suppress it.
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